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CBT Practice test model answers

Accounts Preparation I (API)

Practice assessment 1
Section 1

Task 1.1
[image: image2.png]Extract from non-current assets register

Acqision Deprecation s Fanang T
[Furniture and fttings.

IFicaB101 lornznes 590.00) cash

[vear ena 31036 3450 655.50)

[vear ena 3110357 10350 552

T T T T T I I
lBSHLF 14 lotrome 580.00) cash

[vear ena 311035 4350 536.50)

[Vear ena 31036 87.00 449.50)

[vear ena 3110357 4350 i 300 | 30096
[Machinery

l1acking machine JuacHs? loroams | 8080.00 Partexchange

[vear ena 3110336 2,02000) 5,060.00)

[vear ena 31036 151500 4545.00)

[vear ena 3110357 113625 240875

Fork ifttruck and tp bin FL4S7 01046 1015 Finance lease

[vear ena 3110357 275375 826125





Task 1.2
[image: image3.png](a) Calculate the depreciation charge for the year on the new vehicle.

£ [3600
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Balance bid 22800|Balance cid 38100
[Bank. 5300
38100 38100
Depreciation charges
[Balance bid 6400(Income statement account 10000
Vehicles accumulated depreciation 3600
10000 10000
Vehicles accumulated depreciation
[Balance cid 16400[Balance big 12800
[Depreciation charges 3600
6400 16400
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Task 1.2, continued
[image: image5.png](d) What were the sale proceeds of the machinery? lgnore VAT.

& [625

You are now working on the accounting records at a partnership business. This business needs fo develop a

policy for authorisation of new vehicle purchases.

(&) Which ONE of the following is the most suitable policy?

Newvehicle purchases should be authorised by

2 partner ofthe business

the driver of the vehicle

‘an accounting technician





Section 2

Task 2.1
[image: image6.png]() Which of the following shows how the general ledger account for commission receivable looked at
the beginning of the financial year? Tick the correct answer.

Commission receivable

E E
[01/047 [Accrued income 2350
Commission receivable
E E
[01/045G [Accrued income 2350
Commission receivable
E E
[01/0476 [Accrued income 2350
Commission receivable
E E
[01/045 [Accrued income 2350

(b) Complete the following statement:

On 3110317, the commission recsivable account shows an adjustmentfor

= v BT e |





Task 2.1, continued

[image: image7.png](c) Calculate the commission receivable for the year ended 31/03/X7.

¢ [28450

The bank summary for the year shows payments for selling expenses of £12,800.

(d) Update the selling expenses account for this, showing clearty the balance to be carried down.

Selling expenses.

[Bank 12800[Balance bid 504]

[Batance cia 12296

vilvijv]
A[[Al[A]

12800 12800

7y

v

Before transferting the balance on the selling expenses accountto the income statement you find thatthe payments figure
for selling expenses included £900 relating o the period 01/021X7 to 31/07X7.

(e) Complete the following statement:

Anadustment of £ [500 _ |needs to be made, which wil
3110307,

B2 the seliing expenses forthe year ended






Task 2.2

[image: image8.png]Extract from the trial balance
as at 31 March 20X

Accrued expenses

Ledger

balance

£

“Trial balance

£or

£cr

B
B
B
B
B
B
B
B
B
Id

coued income 450
Advertsing costs 2000) 2000
Allowance for doubtul debls adjustment 502]
Depreciation charges 867 867|
Disposal of on-curtent asset 37|
Fixures and itings at cost 5800) 5800
Offce costs 4480
Recycling revates 7360)
VAT 1845





Task 2.3

[image: image9.png]Extract from extended trial balance

DiE | Cig | Dig | Cif
[Accrued expenses 860)

[Raministration expenses 12790

[Allowance for doubtiul debts 750) 2|

[Allowance for doubtiul gebts - adjustment 2|
[Bank 1690 510}
[Discounts allowed 740 8]

[Insurance expenses. 1080 B
[imecoverable aebts 260)

[Prepaid expenses 860
[Purchases 94600)

[Purchases ledger control account 11140

[Sales 159000

[Sales ledger control account 17200

[suspense a8 510 |
[Travel expenses 7310)





Task 2.3 (continued)

[image: image10.png](b) Show the correct journal entries to close off the administration expenses account and select
‘an appropriate narrative.

Journal

12790

[Administration expenses

12790

fIncome statement account

Narratve:
[ransior o i aion Spenass or oo onded T e 2000 1 o o Silement 7]





Task 2.4
[image: image11.png]Statement of
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Ledger acount Ledgerbalances  Adjustments  Income statement IR T
Dif | GiE | Di£ | GiE | Die | Gre | Die | £or

Allowanc for doubitul debts 300 300 000

Allowance for doubiful debis adjustment 300 E

Bank 28380 500 27880

Capital 4530 #530)

Closing inventory 30000 30000 30000 30000

Depreciation charges 5500) 5500

Offce expenses 69550) 500 69050

Opening inventory 26000 26000

Payroll expenses 31150) 50| 31000

Purchases 83000 900 83900

Purchases ledger control account 29900 29900

Sales 436000 36000

Sales ledger control account 36000) 36000

Seling expenses 67000) 67000

Suspense 250 1150 800

VAT %00 900

Venicies atcost 52000 62000

Vehicies accumulated depreciation 26300 5500) BET

Profit/Toss for the year v | 68850 68850)

TOTAL 508080| 508080 47850 47850| 486300| 466300| 155880| 155880)





Task 2.5
[image: image12.png]Use the following table to show the THREE adjustments you need to make to the cash book.

Amount

Adjustment Debit  Credit

lAdustmentfor (1)

[Aqustmentfor (2)

[Aqustmentfor (4)





Task 2.6

[image: image13.png](a) Why do businesses keep a subsidiary purchases ledger? Choose the ONE most suitable reason:

To summarise the total purchases for the business.

To show how much suppliers are owed i total.

To show how much each individual supplier is owed.

To enable the production of individual customer statements.

You have been asked to reconcile the cash book!o the bank statement.

(b) What can this reconciliation show?

That a cheque receipt from a customer has been posted to the purchases ledger.

That a cheque sentto a supplier has not been banked.

That a BACS payment has been sentto the wrong supplier bank account.

That a direct debit paymenttaken by a supplier has been recorded in the wrong general lsdger
account





